OrAOH AOTIZTIKH OAYMIIIAAA 2012
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHTIEZ NMPOZ TOYZ AIATQNIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D.
MNa KaBe epwTnon, eTIAESTE KOl KUKAWOTE TN owWOTA amrdvrnon A, B, I' 4 A.

1. Inthe balance sheet of a limited company Debentures are shown under the heading of

Long term liabilities/Non current liabilities
Capital and reserves

Current liability

Intangible assets

o0 o>

1. X270 100AOYIONO HIOG ETAIPEIOG TTEPIOPIOUEVNG EUBUVNG, O AOYOPIOOUOG OPOAOYIAKWY
daveiwv ep@avifeTal KATW AaT1Td TNV KATNYOPIA.

MakpoTTpOOECUES UTTOXPEWOEIG
ATTOBOEuATIKA Kal TTAEOVAC AT
TPEXOUOEG UTTOXPEWOEIG

AuAa oToixeia evepynTikou

BPOw>

2.  Atrader took goods that had cost €2.000 from stock/inventory for personal use.

Which of the following journal entries would correctly record this?

Debit Credit
€ €
A. Drawings 2.000 2.000
Stock/inventory
B. Purchases 2.000 2.000
Drawings
C. Sales 2.000 2.000
Drawings
D. Drawings 2.000 2.000
Purchases
2. ‘Evag autoepyalOUEVOG EUTTOPAG TTHPE EUTTOPEUPATA ATTO TO ATTOBEPATA TTOU

dlatnpouce pe KOoToG €2.000 yia TTPOCWTTIKA XPAON.

Mola atrod TIG MO KATW EYYPAPES KATAXWPEEI OWOTA TNV TTI0 TTAVW CUVOAAQyH.
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Xpéwon MioTwon

€ €
A. AvaAqyeig 2.000 2.000
AtToBéparTa

B. Ayopécg 2.000 2.000
AvaAnyeig

. MwAAoeIg 2.000 2.000
AtToBéparTa

A. AvaAqyelg 2.000 2.000
Ayopég

Manolis and Pavlos are in partnership. They share profits equally after charging a salary
€40.000 per year for Manolis and interest on capital at 5% per year.

At 1 January 2011 their capital balances were:

€
Manolis 200.000
Pavlos 100.000

On 1 July 2011 Pavlos introduced a further €100.000 capital, and Manoli’s’ salary was
discontinued.

The partnership profit for the year ended 31 December 2011 was €337.500.

What was Manolis’ profit share for the year ended 31 December 20117

€
A. 138.750
B. 150.000
C. 140.000
D. 148.750

MavwAng kai o NauvAog gival ocuvétaipol. MoipdalovTtal Ta kKEpdN Kai TIG {nUIES e€ioou,
META TNV agaipeon eTAoIou pioBou €40.000 yia To MavwAn kal JETA TNV TTAPAXwWENON
TOKOU 5% €TNCiwg TTAvw OTA KEQAAAIO TWV PHETOXWV.

Tnv 1 louAiou 2011 o MauAog katéBale emTpdoBeTO KEQAAQIO Uoug €100.000 kal 0
MavwAng oTaudTnoe va Traipvel To YIoBo Tou.

To k€Epdog Tou ouveTaIPIOPOU YIa TO £€T0G TTou €Ange Tnv 31 Aekeuppiou 2011 ATav
€337.500.

Molo gival To pepidio kEpdoug Tou MavwAn yia 1o €106 TTou €Ange TNV 31AekeuBpiou
2011;



€

A. 138.750
B. 150.000
r. 140.000
A. 148.750

Which of the following events would increase the company’s Capital Gearing Ratio
expressed as a percentage?

1. Anissue of preference shares
2. Anissue of ordinary shares
3. Anissue of Debentures.

A. land 3
B. 1land 2
C. 3 only
D. 2 only

Molo atrd Ta Mo KATW yeyovoTta Ba auénoel To BaBuod e€apTnong OUVABEIG HETOXIKOU
KEPAAQIOU EKPPACUEVO OE TTOOOOTO;

1. 'Exkdoon TTpovOPIoOUXWV HETOXWV
2. 'Ekdoon ouvrBwyv PETOXWV.
3. 'Ekdoon opoAoyiakou daveiou.

A. land 3
B. land?2
r. 3 only
A. 2 only

Which of the following would be a credit balance in the trial balance?

Carriage inwards
Drawings
Discounts received
Carriage outwards.

00wy

Mol0¢ atrd TOuG TTI0 KATW Aoyapiacuouc Ba £xel TTIOTWTIKO UTTOAOITTO GTO 100CUYI0.

MeTagopikd ayopwv
AvaAnyeig

EkTTwoeigc Anebnoeg
MeTagpopikd TTwANCEWV.
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The plant and machinery at cost account of a company is shown below. The
company’s policy is to charge depreciation at 10% on the straight line basis, with full
depreciation in the year of purchase and no depreciation in the year of disposal.

Plant and machinery - cost

2011 € 2011 €

1 Jan Balance 64.000 30 June Transfer disposal 14.000

1 Apr Cash —Addition 48.000

1 Sept Cash-Addition 36.000 31 Dec Balance 334.000
348.000 348.000

What should be the depreciation charge for the year ended 31 December 20117

A €34.800
B. €33.400
C. €29.800
D €30.000

O Aoyapiaouog KOOTOUG UNXavNUATwy Kal EEOTTAICUOU  TTapouaiadeTal o Katw. H
TTONITIKI) TNG ETAIPEING €ival va ATTOOREVEI TA UNXAVAPATA KAl €OTTAICNO UE TTOCOOTO
10% eTmi TOU KOOTOUG, UTTOAOYICOVTOG ATTOOREDN YIa OAGKANPO TO £TOG OTO £€TOG AYOPAG
Kal undév atrdéofeon oTo £10G dIGBeONG.

Mnxaviuata Kal €E0TTAIONOG — KOOTOG
2011 € 2011 €
1 lav YTréAoitro 264.000 30 louv Aidbeon 14.000
1 Atrp Tpameda —lpooBrikn 48.000
1 >em Tpatrela- NpooBrikn  36.000 31 Aek YtréAoitro 334.000

348.000 348.000

Molo gival To TT006 amméoBeong yia 1o €To¢ TTou €Ange Tnv 31 Aekepuppiou 2011;

A. €34.800
B. €33.400
r. €29.800
A. €30.000

Your firm bought a machine for €5.000 on 1 January 2008, which had an expected
useful life of five years and an expected residual value of €1.000. The asset was to be
depreciated on the straight-line basis. The firm's policy is to charge FULL year
depreciation in the year of purchase and NO depreciation in the year of disposal. On
31 December 2011, the machine was sold for €600.

What is the loss on disposal for the year 20117



A. €1.400
B. €1.200
C. €2.000
D. €400

H emixeipnon oou ayopaoce éva pnxavnua agiog € 5.000 tnv 1 lavouapiou 2008 To
OTT0IO €ixe avapevopévn weENUN Cwr TTEVTE Xpovia Kal uTToA&IpuaTikr agia €1.000.

H TToNITIKA TNG eTaIpEiag ival va uttoAoyilel atrooBeon yia OAOKANPO TO £€T0G OTO £TOG
ayopdg kal undév atréofeon oTo €106 d1dBeong. Tnv 31 AekeuBpiou 2011 10
MNxavnua TwAnenke yia € 600.

Ma eival n ¢nEIG a1Td TNV EKTTOINCH TOU PNXAVHUATOG.

A. €1.400
B. €1.200
r. €2.000
A. €400

Manos a sole trader commences trading on 1 January 2011. During 2011 he had
purchases of €455.000, incurred carriage inwards of €24.000, and carriage outwards
of €29.000. Closing stock/inventory at 31 December 2011 is valued at €52.000.

In the profit and loss account for the year ended 31 December 2011 what is the cost of
sales figure?

A. €456.000
B. €427.000
C. €432.000
D. €531.000

O Mavog cival évag autoepyaldpevog EUTTOPAG TTOU APXIOE TNV ETTIXEIPNON Tou TNV 1
lavouapiou 2011. Katd tnv didpkeia Tou £Toug 2011 aydpaoe eUTTOpEUPATA Ogiag
€455.000 kai TApWOE PETAPOPIKG QyOPWV Kal HETAPOPIKA TTwAnoewyv €24.000 Kkai
€29.000 avrioToixa. Ta amoBéuara Tnv 31 Aekepppiou 2011 ATav €52.000.

Molo gival To KGOTOG TTWANCEWY Yia TO £€T0G TToU €ANnge Tnv 31 AekeuBpiou 2011;

A €456.000
B. €427.000
C. €432.000
D €531.000

The issued share capital of Poka, a limited liability company, is as follows:
€

Ordinary shares of 10 cents each 1.000.000

8% Preference shares of 50 cents each 500.000



10.

10.

11.

In the year ended 31 October 2011, the company has paid the preference dividend for
the year and an interim dividend of 2 cents per share on the ordinary shares. A final
ordinary dividend of 3 cents per share was proposed, before the reporting date.

What is the total amount of dividends relating to the year ended 31 October 20117?

A. €580.000
B. €90.000
C. €130.000
D. €540.000

To peToxIKO Ke@AAaio TG Poka , eTaipeia TepIopIopEvVNG euBUVNG gival OTTWG TTI0 KATW

€
2UVNBEeIG peTOXEG TTPOG 10 OEVT N KABE pIa 1.000.000
8% TTpOVOUIOUXEG HETOXEG TTPOG 50 OevT N KABE pIa 500.000

MNa 10 é10G¢ TTOU €ANnge 31 OkTWRpPIou 2011 n eTaIpEia TTANPWOE TO PEPIOUA TTAVW OTIG
TTPOVOMIOUXEG METOXEG YIA TO £TOG KAI 2 OEVT AVA PETOXK EVOIAUETO PEPIOUA VIO TIG
ouvnBeIg ueETOXEG. TeAIKO pépiopa 3 oevT avd KOV JETOXH €XEI TTPOTABEI TTPIV TV
nuUeEpounvia  avagopdag.

[Molo gival TO CUVOAIKO PEPIOPA TTOU OXETICeTaI e TO £T0G TTOU £Ange 31 OKTWRpPiou
2011;

A. €580.000
B. €90.000
r. €130.000
A €540.000

In a club’s balance sheet subscriptions paid in advance from subscribers are shown
under

A. Current asset

B. A fixed asset/Non current assets
C. Reduction in accumulated fund
D. Current liability

270 1I00A0YIONO £VOG N KEPOOOKOTTIKOU OPYQAVIOUOU CUVOPOMEG TTOU £€XOUV
TTPOTTANPWOEI atTd Toug cuvdpounTéS TTapouaidldovtal KATw aTrd TNV KaTnyopia.

A. KukAo@opouUv evepynTikO

B. Tlayia mrepiouoiakd oToixeia

. Meiwon ota cucwpeupéva TTAeovaopaTa
A. TpéXOUOEG UTTOXPEWOEIG

The following information has been extracted from the financial statements of a limited
company for the year ending 30 November 2011:
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12.

12.

13.

Net assets €150.000
Current assets € 50.000
Long term liabilities/Non current liabilities € 25.000

What is the company’s shareholders equity based on the above information?

A. €125.000
B. € 75.000
C. €150.000
D. € 25.000

O1 1o KdaTw TTANPoPopieg Exouv e€axOei aTTd TIC OIKOVOUIKEG KATAOTACEIG MIAG
eTAIPEIAG TTEPIOPICUEVNG €UBUVNG YIa TO £€T0G TTOU €ANnge 30 NoeuBpiou 2011

KaBapd evepynTiko €150.000
TPEXOUOEG UTTOXPEWOEIG € 50.000
MakpoTTpOOECUEG UTTOXPEWOEIG € 25.000

Me Baon TG TTI0 TTAvw TTANPOYOPIES TTIA Eival N KaBapn agia Tng ETaipEiag ;

A. € 125.000
B. € 75.000
r. € 150.000
A. € 25.000

Expenses prepaid are shown under

Current liabilities

Fixed assets/Non current assets

Long term liabilities/Non current liabilities
Current Assets

00w

Ta TpoTAnpwTéa £€0da TTapouaidlovTal KATw aTTd TNV KATnyopia.

Tpéxouoeg YTTOXPEWOEIG

Mayia oToixeia evepynTikoU
MakpoTTpOBECUES UTTOXPEWODEIC
KukAo@opouv evepynTikO
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A and B are in partnership, sharing profits equally. On 30 June 2011, C joined the
partnership and it was agreed that from that date all three partners should share
equally in the profit.

In the year ended 31 December 2011 the profit amounted to €420.000, accruing
evenly over the year, after charging a bad debt of €21.000 which it was agreed should
be borne equally by A and B only.



What should be the partners' total profit shares for the year ended 31 December
20117

A B C

€ € €
A. 136.500 136.500 147.000
B. 173.250 173.250 73.500
C. 176.750 176.750 66.500
D. 143.500 143.500 133.000

O1 A kai B gival ouvéTaipol kai poipdlovtal ta kEpdn e¢ioou. Tnv 30 louviou 2011, 0
MTTAKE OTOV CUVETAIPIOKO KOl CUPPWVABONKE OTTWG OAOI OI GUVETAIPOI ATTO TV
nuepounvia auth va poipdlovrtal Ta KEPON £giocou.

MNa 10 €106 TTOU €ANnge 31 AekeuBpiou 2011 Ta KEPON Tou cuveTalpIouoU ATav €420.000
Kal TTIMEPICOVTAl £EICOU KATA TNV DIAPKEIQ TOU XPOVOU UETA TNV aQaipeon £TICQAAWV
XPEWOTWY UYoug €21.000 TTOU CUPPWVABNKE va eTTIBapuvouy e¢iocou Toug A kai B.

Molo Ba €ival To CUVOANIKO JEPIBIO TWV CUVETAIPWY YIa TO £€TOG TTOU €Ange Tnv 31
AekeupBpiov 2011

A B r

€ € €
A. 136.500 136.500 147.000
B. 173.250 173.250 73.500
r. 176.750 176.750 66.500
A. 143.500 143.500 133.000

The information below is relevant for questions 14 and 15

Andreas is a sole trader who does not keep full accounting records. The following
details relate to his transactions with customers and suppliers for the year ended 30
November 2011.

€

Trade Debtors, 1 December 2010 130.000
Trade Creditors, 1 December 2010 60.000
Cash received from customers 686.400
Purchases returns 15.040
Cash paid to suppliers 302.800
Discounts allowed 1.400

Discounts received 2.960

Bad debts 4.160
Cash Sales 12.540
Trade Debtors, 30 November 2011 181.000
Trade Creditors, 30 November 2011 84.000

O1 1m0 KATW TTANPOPOpPiIEg OXETI(OVTAI ME TIG EpWTAOCEIG 14 K 15



14.

14.

15.

15.

O Avdpéag eival autoEPYadouEVOG EUTTOPAG O OTTOI0G eV TNPEI KavovIKa BiBAia. Ol
MO KATW TTANPOPOPIEG ava@EPOVTAl OTIGC OUVOAAAYEG TTOU €ixe 0 AvOPEQG PE TOUG
TTEAATEG KAl TTPOUNOEUTEG TOU yia TO €106 TToU €Ange TNV 30 NogpBpiou 2011.

€
Eptropikoi XpewoTeg 1 AekeuBpiou 2010 130.000
Eptropikoi MoTtwtég 1 Aekepppiou 2010 60.000
Eiomrpdaéeic amd meAdreg 686.400
EmoTpopég ayopwv 15.040
MANPWMEG O€ TTPOUNBEUTES 302.800
EKTTITWOEIG TTOU TTapaxwpriénkav 1.400
ExTITwoeig Anebnoeg 2.960
Emo@aAgic xpewoTeg 4.160
MwANOEIg TOIG HETPNTOIG 12.540
Eptropikoi XpewoTteg 30 NogupBpiou 2011 181.000
Eutropikoi MoTtwtég 30 NogpPBpiou 2011 84.000

Based on the above information, what figure should appear in Andreas’ Profit and
Loss account for the year ended 30 November 2011 for sales revenue?

A. €755.500
B. €742.960
C. €751.140
D. €742.960

Me Baon TIg M0 TTAvVW TTANPOPOPIES TTOIES Eival O TTWANCEIG TNG ETTIXEIPNONG TTOU Ba
TTapouciddovTal OTNV KATAoTaon AtToTEAEOUATWY YIa TO £€T0G TToUu €Ange 30 NoeuBpiou
2011,

A. €755.500
B. €742.960
r. €751.140
A. €742.960

Based on the above information, what figure should appear in Andreas’ Profit and loss
for the year ended 30 November 20X3 for purchases?

A. €343.240
B €328.200
C. €329.760
D €344.800

Me Baon TIG TTI0 TTAVW TTANPOPOPIES TTOIEG Eival OI AYOPES TNG ETTIXEIPNONG TTou Ba
TTapoucidlovTal OTNV KATaoTaon amoTeAEOUATWY yia To £€10¢ TTou €An&e 30 NoguBpiou
2011;

A. €343.240
B. €328.200
r. €329.760
A. €344.800



16. The profit on the revaluation of the assets of a partnership before the admission of a
new partner is

Credited to old partners based on the are old profit sharing ratio
Debited to the old partners on the new sharing ratio

Credited to the new partners with the new sharing ratio

Debited to the old partners with the new sharing ratio.

OO0 W

16. To kEPDOG ATTO TNV ETTAVEKTIMNGN TWV TTEPIOUCIOKWY OTOIXEIWV EVOG CUVETAIPIOUOU
TIPIV TNV €10aYWYNA VEOU CUVETAIPOU.

A. MoTwveTE 0TOUG TTAAQIOUG CUVETAIPOUG PE BACN TNV TTAAQIA avaloyia
ETTIMEPIOUOU TWV KEPOWV

B. XPEWVETAI OTOUG TTAAAIOUG CUVETAIPOUG e BAon Tnv véa avaAloyia
ETTIMEPIOUOU TWV KEPOWV

r. MOoTWVETE OTOUG VEOUG CUVETAIPOUG PE BACN TNV VEQ avaAoyia ETTIUEPICPOU
TwV KEPOWV

A. XPEWVETAI OTOUG TTAAAIOUG CUVETAIPOUG e BAon TNV véa avaloyia ETTINEPICUOU
TWV KEPOWV.

17. Peter started a trading business on 1 May 2010 with capital of €40.000. In his first year
of trading he made a net profit of €117.000, selling goods at a mark-up on cost of 60%.
He injected additional capital of €30.000 in the year and withdrew a monthly amount of
€3.200 for his living expenses. He also took drawings from stock of goods with a resale

value of €7.200. He had no stock at the year end.

What were Peter's net assets at 30 April 20117

A. €141.400
B. €144.100
C. €144.280
D. €179.300

17. O Métpog dpxioe Tnv emixeipnon Tou TNV 1 Maiou 2010 ue ke@dAaio €40.000. ZT10
TTPWTO XPOVO AsIToupyiag Tou gixe kaBapod kEPdog €117.000, TTwAWVTAG TA
EMTTOPEUPATA UE TTOOOOTO KEPDOUG £TTi TOU KOGTOUG 60%.

Katd tnv didpkeia Tou £Toug EBaAE ETTITTPOCOETO KEQAAQIO OTNV ETTIXEIPNON UYWOUG
€30.000 kai ékave pnviaieg avaAnyelg €3.200 yia va KAAUWnN Ta TTPOCWTTIKA TOu ££00a
Etriong TTnpé atd tnv eTmixeipnon eutropelpata pe TiuR TwAnong €7.200 yia
TTPOCWTTIKI) XPron. ZTo TEAOUG TOU £TOUG OEV €ixe OTTOIOOATTOTE ATTOBEUATA.

Moia gival Ta kaBapd Treplouaiakd oToixeld 1o Mérpou katd Tnv 30 AtrpiAiou 2011

A. €141.400
B. €144.100
r. €144.280
A. €179.300
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18. On 1 April 2009 Hertz plc bought a Toyota car for €23.500. The company's depreciation
policy for cars is 30% per annum using the reducing balance method. On 1 April 2011
the Toyota was part exchanged for a Honda car, which had a purchase price of €28.200.
Hertz plc handed over a cheque to the seller for €19.350, in final settlement.

What was Hertz plc's profit or loss on the disposal of the Toyota?
A. €5.150 loss
B. €7.835 profit

C. €2.665 loss
D. €6.250 loss

18. Tnv 1 AmrpiAiou 2009 Hertz plc ayopaoe éva autokivnto Toyota yia €23.500.
H TTONITIKR) TNG €TaIpEiag gival va atroofével Ta auTtokivnTa pe TTooooTo 30%
XPNoIhoTToIWVTag TNV HEBodO TNS @Bivoucag ammdoBeong. Tnv 1 AtrpiAiou 2011 1o
Toyota TTwARBnKe pe TNV nEBODO TNG avTaAAQYNG VIO va ayopaoTEi €va Kalvoupylo
Honda 1ou eixe k6oTog ayopdg €28.200. Na Tnv ayopd Tou Honda n Hertz £dwoe
etriong pia emrayn yia €19.350 mpog TA\pn €€6QAnoN.

Molo gival To KEPDOOG N ¢nuia Tng Hertz atrd tnv didBeon Tou Toyota

A. €5.150 {nuid
B. €7.835 képdog
. €2.665 {nuid
A. €6.250 {nuic

19. The following information related to a Football Club for the year ending 31 July 2011.

Members 520
Annual subscription per member €100
Subscription outstanding 31 July 2011 €2.500
Subscription outstanding 1 August 2010 €1.750

What are the subscriptions received by the Football club during the year ending

31 July 2011.
A. €52.000
B €51.250
C. €52.750
D €56.250

19. O1 Mo kdTw TTANPoPopieg oxeTiCovtal Ye Eva TTOOOCPAIPIKO CWHATEIO yIa TO £€TOG TTOU
¢An&e 31 louAiou 2011

MEAN 520
Etioia ocuvdpopun ava péAog € 100
2UVvOpouEG o@eINOueveS 31 louAiou 2011 € 2.500

2UVOPOUEG 0PeINOuEVEG 1 AuyouoTou 2010 € 1.750

11
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[Moleg gival oI CUVOPONEG TTOU EICTTPAXONCAV ATTO TO CWHATEIO KATA TNV DIAPKEIN TOU
€toug tmou €Ange 31 louAiou 2011.

A.  €52.000
B. €51.250
. €52.750
A.  €56.250

A sole trader who does not keep full accounting records wishes to calculate her
sales revenue for the year. The information available is:

Opening inventory €17.000
Closing inventory €24.000
Purchases €95.000
Carriage outwards € 1.500
Purchase returns € 4.000

Standard gross profit percentage on sales revenue 20%

Which of the following is the sales figure for the year calculated from these figures?

A. €106.875
B. €100.800
C. €105.000
D. €110.000

‘Evag autoepyalOueVOCS EUTTOPAC TToU Oev KpaTd AoyioTiKG BIBAia BEAEl va uttoAoyioel
TIG TTWANCEIS yIa TO £€T0G. OI IO KATW TTANPOPOPIES ival DIABECIUEG:

ApxIké atréBepa €17.000
TeAk6 amméBepa €24.000
Ayopég €95.000
MeTtagopikd TwAnoewv € 1.500
EmoTpogpég ayopwv € 4.000

To avauEVOPEVO TTOOOOTO PEIKTOU KEPBOUG £TTI TwV TTWARCEwWV gival 20%

Me Baon Ta 1o TTAVW OTOIXEIA TTOIEG €ival Ol TTWARCEIG TOU YIA TO £€T0G;

A. €106.875
B. €100.800
r. €105.000
A €110.000

Elena keeps no accounting records. The following information is available about her
financial position and transactions for the year ended 31 December 2011:

12



21.

22.

€
Net assets at 1 January 2011 210.000
Drawings during 2011 48.000
Capital introduced during 2011 100.000
Net assets at 31 December 2011 400.000

Based on this information, what was Elena'’s profit for 2011?

A €42.000
B. €242.000
C. €138.000
D. €338.000

H ‘EAeva dev diatnpei AoyioTikd BipAia. O1 1o Katw TTAnpo@opieg oxeTiCovTal ue TNV
OIKOVOWIKI TNG KaTAoTaon Kal cuvaAAayEg yia 1o €106 TTou €Ange 31 AekeuBpiou 2011;

€
KaBapd trepiouciakd oToixeid 1 lavouapiou 2011 210.000
AvaAquyelg kata Tnv didapkela Tou £Toug 2011 48.000

Eicaywyn pdobeTou kepaAaiou katd 1o £€10¢ 2011 100.000
KaBapd trepiouciakd oToixeia 31 Aekepppiou 2011 400.000

Me Baon TIg TTI0 TTAvw TTANPOPOPIES TTOoIO gival To KEPOOG TNS ‘EAevag yia 1o 2011;

A. €42.000
B €242.000
r. €138.000
A €338.000

The following items can be found in the financial statements of a manufacturing
company which manufactures a new product which has recently been invented by a
famous scientist.

Advertising

Royalties paid to the scientist
Salesmen salaries
Depreciation of machinery

rwn R

Which of the above items will NOT appear in the expenses section of the profit and
loss account of the manufacturing company?

A. land?2
B. 2and4
C. 2and3
D. 4only
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22. Ta 1Mo KATW OTOIXEIG BPIOKOVTAI OTIG OIKOVOUIKEG KATAOTACEIG MIOG JETATTOINTIKAG
ETAIPEIAG TTOU KATOOKEUALEI £€va TTPOIOV TTOU £XEI TTPOCQATA EQPEUPEDET aTTO Eva
d1donMo ETTIOTHOVA.

Ala@npioeig

AIKQIWPATA EUPECITEXVIOG OTOV ETTIOTAOVA.
MioBoi Twv TTWANTWV.

ATéoBeon pnxavnudTwy.

PwpdPE

Molo/a atrd Ta 1m0 TTAvw oToIxXEId dev ep@avifeTal oTa £€0da Tou Aoyapiacuou
KEPOOCNUIWYV TNG METATTOINTIKAG ETAIPEIAG.

A. 1 ka1 2
B. 2 ka4
I 2 ka1 3
A. 4 puodvo

23. Which of the following factors could cause a company’s gross profit percentage on
sales to fall?

1. Understatement of closing stock/inventory

2. The incorrect inclusion in purchases of invoices relating to goods supplied in the
following period.

3. The inclusion in sales of the proceeds of sale of non-current assets.

4. Increased costs of carriage charges borne by the company on goods sent to

customers.
A. 3and 4
B. 2 and 4
C. land?2
D. 1and3

23. Tloiol a1rd TouG Mo KATW TTaPAyoVTEG Ba PEILIOOUV TO TTOOOOTO PEIKTOU KEPOOUG ETTI
TWV TTWANCEWV PIAG ETAIPEIAG.

1. YTroTignon Twv TEAIKWV atroBeudTwy.

2. H AavBaopévn ouptrepiAnwn TiHoAoyiwv ayopds oTnv TpEXOUCa TTEPIODO TTOU
a@OPOUV EUTTOPEUPATA TTOU TTaPadddnKav TNV TTOPEVN TTEPIODO.

3. Eiompdéeig atrd tnv TWANOCN TTayiwy OTOIXEIWV TTOU CUPTTEPIANPONKAV OTIG
TTWANCEIG EUTTOPEUPATWV.

4. AUEnon Tou KOOTOUG PETAPOPAS EUTTOPEUMATWY OTOUG TTEAATEG TTOU ETTIBAPUVEI TV

eTaipeia.
A. 3kal 4
B. 2 Kal 4
Ir. 1 kai 2
A. 1kal 3

14



24.

24.

Bata, a limited liability company, receives rent for renting part of its office premises to
a number of tenants.

In the year ended 31 December 2011 Bata received cash of €318.600 from its
tenants.
Details of rent in advance and in arrears at the beginning and end of 2011 are as
follows:

31 December

2011 2010
€ €
Rent received in advance 28.400 24.600
Rent owing by tenants 18.300 16.900

What figure for rental income should be included in the Profit and loss account/income
statement of Bata for 20117

A. €341.000
B. €336.400
C. €300.800
D. €316.200

H BaTa, etaipeia mrepiopiopévng €uBUVNG EICTTPATTEI EVOIKIQ ATTO THV EVOIKIOON PEPOUG
TWV YPAPEiWV TNG 0€ AAAEG ETAIPEIEC.

Katd tnv didpkeia Tou £Toug tmou €Ange 31 AekeuBpiou 2011 n Bata siomrpae evoikia
Q1O TOUG EVOIKIAOTEG TNG Uyoug €318.600.

NETTTOUEPEIEG AVAPOPIKA PE Ta apXIKA Kal TEAIKG UTTOAOITTA TTOU £XOUV TTPOTTANPWOEI
KAl QUTA TTOU  o@eiAovTal aKOPN TTapoucidlovTtal TTo KATw,

31 AekeuBpiou
2011 2010
€ €
Evoikia TTou £€xouv TTpoTTANpwOEi 28.400 24.600
Evoikia 1TTou o@eilovTal 18.300 16.900

Molo TTo0é Ba TTapouciacTei 0Tn KATdoTaon KEPOOLNUIWY cav €000 ATTO EVOIKIA YIA
10 €106 2011.

A. €341.000
B. €336.400
r. €300.800
A. €316.200
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25. The following information has been extracted from the financial statements of a
manufacturing company for the year ending 31 December 2011

€
Manufacturing Cost 1.250.000
Sales 1.750.000
Opening stock of finished goods 80.000
Opening stock of raw materials 130.000
Closing stock of finished goods 100.000
Closing stock of raw materials 90.000

What is the company’s gross profit for the year based on the above information?

A.€500.000
B.€440.000
C.€480.000
D.€520.000

25.  O1 1o kKatw TTAnpo@opieg £xouv eEaxOei aTrd TIG OIKOVOUIKES KATAOTACEIG WIAG
METATTOINTIKAG ETAIPEIAG VIO TO £€TOG TTOU €ANge TNV 31 AekeupBpiou 2011.

€
KooTtog MNapaywyng 1.250.000
MwAnoeig 1.750.000
ApXIKO atTéBepua TEAIKWV TTPOIOVTWV 80.000
ApXIké atTéBepa TTPWTWV UAWV 130.000
TeAIKO atréBepa TEANIKWYV TTPOIOVTWYV 100.000
TeAIKO aTTOBEPA TTPWTWV UAWV 90.000

Molo gival To PEIKTO KEPDOUG TNG ETAIPEIAG YIA TO £€T0G UE BAoN TIG TTIO TTAVW

TTANPOYOPIEG.
A. €500.000
B. €440.000
r. €480.000
A. €520.000
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